
1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

I

K

C

D

E

F

G

I

K

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

Lr 630 C

P2ZUa
3²1²50ä

P2ZUa
3²1²50ä

I >>/t UM
ZG

I >>/t UM
ZG

Vtdis 2
1000 mYC
10 / 0,4 mY
FÄr5
RPCP

Vtdis 1
1000 mYC
10 / 0,4 mY
FÄr5
RPCP

IGNF M01 Tkrjmdegn
K 25 IGNF M05

IGNF M02 Tkrjmdegn
K 22 IGNF M01

IGNF M03
Vtdis 1

IGNF M04
Vtdis 2

AusEin AusEin AusEin AusEin

BKD1+XY1 BKD1+XY1

I >>/t UM
ZG

I >>/t UM
ZG

/

3
2
1

Lm3A Lm1A

B
+rfgtyrj

OduuuxdeA
rfgtyrjufdxyo Kg rfgtx

Fdxyo
Crjgesxurt. StslgmxrdogA

Dgux xkjx
Gtuxgnnx

DndxxA

Lrfg²A 

bYC (Gkredyuxdxksr)

d
KD1
XY1

OU-Crndjg 1 2

14.05.2025

1 VV0 mC 0 mC



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

SG1

/

3
2
1

Lm3A Lm1A

B

+
üpfgtzpi
PcuuuycdA

üpfgtzpiufcyzo Ig pfgty

StrlgmypcogA

DncyyA

bZC (QUKZ) 2025-08-24
ID1

KZ1

Kczsyuytronczhsncp 1 3VV45,92 mC 3=,69 mC

EW1 EW2

T3
j1600KEH

1600 C 2
1

4

50 mC

T1
KQH-NUL

4000 C
1600 C

1=200 C

2
1

4
2

1
4

E1
E2

50 mC

T2
KQH-NUL

4000 C
1600 C

1=200 C

2
1

4
2

1
4

E1
E2

1

Z2
2-C,1

2

Z1
2-G,1

2
1

4

Tzgtuejpkyy
Mcdgn VÄs
Mcdgn DPM

Uytromtgkupt.

Dg
äg

kej
pz

pi
Cd

i
pi

g

Gk
pu

sg
kuz

pi
 

dg
t V

tc
hr

a1

Gk
pu

sg
kuz

pi
 

dg
t V

tc
hr

a1

EW1



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

H1
NXFT

iI
630 C

PJ3
600/5C

2z

Y2
Paa-Q

3z2z240+2z240+2z240

Cd
ic

pi
 h

t W
X

BID1+WX3-G1

H2
NXUIY

iI
160 C
PJ00

150/5C

Z1

1
2
3
4
5

/

3
2
1

Km3A Km1A

B

+
üpfgtypi
OcuuuxcdA

üpfgtypiufcxyo Ig pfgtx

RtrlgmxpcogA

DncxxA

bXC (PUJX) 2025-08-24
ID1

JX1

Jcysxuxtroncyhsncp 2 3VV45,92 mC 3=,69 mC

H3
NXUIY

iI
160 C
PJ00

150/5C

Z1

6
8
9
=
10

2

X1
1-G,14

1

X2
1-C,14

H4
NXUIY

iI
160 C
PJ00

150/5C

4

X4
3-G,1

Sygtuejpkxx
Mcdgn VÄs
Mcdgn DOM

Uxtromtgkupt.

Dg
äg

kej
py

pi
Cd

i
pi

g

Y3
PaO-L
1z5z35

Mr
o

sg
pu

cx
kr

pu
cp

nc
ig

Y4
PaO-L
1z5z35

Cd
ic

pi
 h

t W
X

BID1+WX2-G1

MD
T/

IN
V-

UÄ
ux

go
 V

tc
hr

ux
cx

kr
p

H8
EFD
25 C

30 oC
D

13
14

21
22

H=
ODP

D
16 C
6 mC

=1
=2

=3
=4

Z1

1=
20
21

Y9

Ux
ge

mf
ru

gp

H10
ODP

D
16 C
6 mC

=1
=2

=3
=4

EW3

HK
-U

ej
yx

äu
ej

cn
xg

t

Z1

22
23
24

Y=

Tg
u.

H9
ODP

D
16 C
6 mC

=1
=2

=3
=4

Z1

16
18
19

Y8

Dg
ng

ye
jx

yp
i

3

H5
NXUIY

iI
160 C
PJ00

150/5C

Y5

MD
T/

IN
V-

UÄ
ux

go
 V

tc
hr

ux
cx

kr
p

H6
NXUIY

iI
160 C
PJ00

150/5C

Z1

11
12
13
14
15

Y6
PaO-L
1z5z35

Cd
ic

pi
 h

t W
X

BID1+WX4-G1

RG1

EW1

N1,P N2,PN1,P



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

Sygtuejpkxx
Mcdgn VÄs
Mcdgn DOM

Uxtromtgkupt.

Dg
äg

kej
py

pi
Cd

i
pi

g

4

X4
2-G,14

/

3
2
1

Lm3A Lm1A

B

+
pfgtypi

OcuuuxcdA
pfgtypiufcxyo Ig pfgtx

RtrlgmxpcogA

DncxxA

bXC (PUKX) 2025-08-24
ID1

KX1

Kcysxuxtroncyhsncp 3 3VV45,92 mC 3=,69 mC

H16
ODP

D
16 C
6 mC

=1
=2

=3
=4

Z1

31
32
33

Y14
Tg

u.

H13
EFD
25 C

30 oC
D

13
14

21
22

HL
-U

ej
yx

äu
ej

cn
xg

t

EW4

H14
ODP

D
16 C
6 mC

=1
=2

=3
=4

Z1

25
26
28

Y12

Dg
ng

ye
jx

yp
i

H15
ODP

D
16 C
6 mC

=1
=2

=3
=4

Z1

29
2=
30

Y13

Ux
ge

mf
ru

gp

H11
NXFT

iI
630 C

PK3
600/5C

2z

Y10
Paa-Q

3z2z240+2z240+2z240

Mr
o

st
gu

ukr
pu

m
nxg

o
cu

ej
kg

pg
L

H12
NXFT

iI
630 C

PK3
600/5C

2z

Y11
Paa-Q

3z2z240+2z240+2z240

Mr
o

st
gu

ukr
pu

m
nxg

o
cu

ej
kg

pg
LL

RG1

EW2

N1,P N2,P N3,P



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

Gk
pu

sg
kux

pi
 c

xu
 X

gt
vg

kng
t

1z4z35
PaO-L

Y1

/

3
2
1

Km3A Km1A

B
+üpfgtxpi

OcuuuvcdA
üpfgtxpiufcvxo Ig pfgtv

Fcvxo
Cpigdrvupt. RtrlgmvpcogA

Dguv vkiv
Gtuvgnnv

DncvvA

KpfgzA 

bXC (Gkpdcxuvcvkrp)

c
ID1
WX2

Jcxsvuvtroncxhsncp 1 5

05.05.2025

1 VV0 mC 0 mC

RG1

EW1

12
11

14

H1
URC

25 mC
50 mC

1,5 mX
V1+V2

H4
NXUIY

iI
160 C
PJ00

150/5C

1

X3
2-C,1

Sxgtuejpkvv
Mcdgn VÄs
Mcdgn DOM

Uvtromtgkupt.

Dg
äg

kej
px

pi
Cd

i
pi

g

2

X1
2-G,1

25 mC

S1
JJU-VO

160 C
=60 C

1
2
3
4

+WX1-Z1
Y2

H2
NXUIY

iI
160 C
PJ00

150/5C

H3
NXUIY

iI
160 C
PJ00

150/5C

H5
NXUIY

iI
160 C
PJ00

150/5C

Y4
PaO-L
1z4z35

Wo
mg

jt
 Q

uo
ru

g-
Cp

nc
ig

BID1+WX2-G1

Y3
PaO-L
1z4z35

Gp
vj

tv
xp

iu
cp

nc
ig

BID1+WX2-G1

+WX1-Z1

5
6
8
9

+WX1-Z1

=
10
11
12

Y5
PaO-L
1z4z35

Rx
o

sg
 äx

o
 C

xh
h

nng
p 

fg
u

M
nvg

pg
vä

gu

BID1+WX2-G1

+WX1-Z1

13
14
15
16

Y6
PaO-L
1z4z35

Tg
ug

ty
g

BID1+WX2-G1

+WX1-Z1

18
19
1=
20



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

+WX1-Z1

21
22
23
24

+WX1-Z1

2=
30
31
32

Y8

O
gp

pg
mg

u C
O

CZ
Z-

Xg
tx

gk
ng

t

GI
 C

td
gk

xu
sn

cx
ß

Y11
PaO-M
1z4z16

O
gp

pg
mg

u C
O

CZ
Z-

Xg
tx

gk
ng

t

Cy
gp

dg
tg

kej

Y10
PaO-M
1z4z16

O
gp

pg
mg

u C
O

CZ
Z-

Xg
tx

gk
ng

t

1.
 Q

I 
 C

td
gk

xu
sn

cx
ß

H6
ODP

D
40 C
6 mC

Z2

1
2
3
4

H8
ODP

D
40 C
6 mC

/

3
2
1

Km3A Km1A

B
+äpfgtypi

OcuuuxcdA
äpfgtypiufcxyo Ig pfgtx

Fcxyo
Cpigdrxupt. StrlgmxpcogA

Dgux xkix
Gtuxgnnx

DncxxA

KpfgzA 

bXC (Gkpdcyuxcxkrp)

c
ID1
WX2

Jcysxuxtroncyhsncp 2 5

05.05.2025

1 VV0 mC 0 mC

Y9

O
gp

pg
mg

u C
O

CZ
Z-

Xg
tx

gk
ng

t

GI
 C

td
gk

xu
sn

cx
ß

2

X1
1-G,14

1

X3
1-C,14

H9
ODP

D
40 C
6 mC

+WX1-Z1

25
26
28
29

Tygtuejpkxx
Ncdgn VÄs
Ncdgn DON

Uxtromtgkupt.

Dg
ßg

kej
py

pi
Cd

i
pi

g

Z1

1
2
3
4

H=
ODP

D
40 C
6 mC

Y=
PaO-M
1z4z16

O
gp

pg
mg

u C
O

CZ
Z-

Xg
tx

gk
ng

t

1.
 Q

I 
Ct

dg
kxu

sn
cx

ß

4

X4
3-G,1

3

X3
3-C,1

H10
ODP

D
40 C
6 mC

EW1

SG1



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

4

X4
2-G,14

H11
EFC
25 C

30 oC
C

H13
ODP

D
16 C
6 mC

Y14

Dg
ng

xe
jv

xp
i

QI

Z1

13
14

H16
ODP

D
16 C
6 mC

Z1

5
6

H15
ODP

D
16 C
6 mC

Z1

8
9

Y18

Tg
ug

ty
g

H12
ODP

D
16 C
6 mC

Z1

11
12

Y15
PaO-L

1z2z2.5

Dg
ng

xe
jv

xp
i

QI

H14
ODP

D
16 C
6 mC

Y12
PaO-L

1z2z2.5

Dg
ng

xe
jv

xp
i

GI

H18
ODP

D
16 C
6 mC

Z1

=
10

Z1

15
16

EW2

Y13
PaO-L

1z2z2.5

Dg
ng

xe
jv

xp
i

GI

Y16
PaO-L

1z2z2.5

Tg
ug

ty
g

HK
-U

ej
xv

äu
ej

cn
vg

t

Sxgtuejpkvv
Mcdgn VÄs
Mcdgn DOM

Uvtromtgkupt.

Dg
äg

kej
px

pi
Cd

i
pi

g

/

3
2
1

Km3A Km1A

B
+pfgtxpi

OcuuuvcdA
pfgtxpiufcvxo Ig pfgtv

Fcvxo
Cpigdrvupt. RtrlgmvpcogA

Dguv vkiv
Gtuvgnnv

DncvvA

KpfgzA 

bXC (Gkpdcxuvcvkrp)

c
ID1
WX2

Jcxsvuvtroncxhsncp 3 5

18.06.2025

1 VV0 mC 0 mC

3

X3
2-C,14

5

X6
4-C,1

6

X=
4-G,1

EW1

RG1

N3N2N2N1 N2N1



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

H20
PDQ

D
16 C
6 mC

H19
EFC
25 C

30 oC
C

HK
-U

ej
xv

äu
ej

cn
vg

t

Y20

Tg
ug

ty
g

H1=
PDQ

D
16 C
6 mC

Z1

1=
20

EW3

H21
PDQ

D
16 C
6 mC

Y1=
QaP-L

1z2z2.5

Tg
ug

ty
g

Z1

18
19

Z1

21
22

Y19
QaP-L

1z2z2.5

Dg
ng

xe
jv

xp
i

FI

/

3
2
1

Km3A Km1A

B
+pfgtxpi

PcuuuvcdA
pfgtxpiufcvxo Ig pfgtv

Fcvxo
Cpigdrvupt. RtrlgmvpcogA

Dguv vkiv
Gtuvgnnv

DncvvA

KpfgzA 

bXC (Gkpdcxuvcvkrp)

c
ID1
WX2

Jcxsvuvtroncxhsncp 4 5

0=.08.2025

1 VV0 mC 0 mC

Sxgtuejpkvv
Mcdgn VÄs
Mcdgn DPM

Uvtromtgkupt.

Dg
äg

kej
px

pi
Cd

i
pi

g

5

X6
3-C,14

8

X9
5-C,1

6

X=
3-G,14

9

X=
5-G,1

EW1

RG1

N1N3 N3



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

H22
EFC
25 C

30 oC
C

H23
PDQ

D
16 C
6 mC

=

MD
T/

IN
V-

UÄ
ux

go

/

3
2
1

Lm3A Lm1A

B
+pfgtypi

PcuuuxcdA
pfgtypiufcxyo Ig pfgtx

Fcxyo
Cpigdrxupt. RtrlgmxpcogA

Dgux xkix
Gtuxgnnx

DncxxA

LpfgzA 

bXC (Gkpdcyuxcxkrp)

c
ID1
WX2

Kcysxuxtroncyhsncp 5 5

0=.08.2025

1 VV0 mC 0 mC

Sygtuejpkxx
Mcdgn VÄs
Mcdgn DPM

Uxtromtgkupt.

Dg
äg

kej
py

pi
Cd

i
pi

g

8

X9
4-C,14

H24
PDQ

D
16 C
6 mC

EW4

HL
-U

ej
yx

äu
ej

cn
xg

t

+WX1-a1

33
34

Z21

MD
T/

IN
V-

UÄ
ux

go

9

X=
4-G,14

H25
PDQ

D
16 C
6 mC

+WX1-a1

35
36

Z22

MD
T/

IN
V-

UÄ
ux

go

EW1

RG1

N1 N2 N3



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

Y3
QaP-L
1z4z25

Vt
cu

ug
ps

xo
sg

 1

Sxgtuejpkvv
Mcdgn VÄs
Mcdgn DPM

Uvtromtgkupt.

Dg
äg

kej
px

pi
Cd

i
pi

g

Y6

Tg
ug

ty
g

Y5

Tg
ug

ty
g

40 mC

S1
JQYGpgtiÄ

6300 C

630 C
6300 C

EW1

RG1

/

3
2
1

Km3A Km1A

B
+pfgtxpi

PcuuuvcdA
pfgtxpiufcvxo Ig pfgtv

Fcvxo
Cpigdrvupt. RtrlgmvpcogA

Dguv vkiv
Gtuvgnnv

DncvvA

KpfgzA 

bXC (Gkpdcxuvcvkrp)

c
ID1
WX3

Jcxsvuvtroncxhsncp 1 2

05.05.2025
 

1 VV0 mC 0 mC

H1
URC

25 mC
50 mC

1,5 mX
V1+V2

1

X3
2-C,1

EKR
Cfcsvrt

12
11

14

2

X1
2-G,1

Y4
QaP-L
1z4z25

Vt
cu

ug
ps

xo
sg

 2

Gk
pu

sg
kux

pi

Y1 Y2 Y8
QaP-L
1z4z6

Mr
o

sg
pu

cv
kr

p

H2
NXUI

iI
90 C
QJ1

200/5C

H3
NXUI

iI
90 C
QJ1

200/5C

H4
NXUI

iI
90 C
QJ1

200/5C

H5
NXUI

iI
63 C
QJ1

200/5C

H6
NXUI

iI
25 C
QJ1

200/5C

H8
CFZ

D
32 C

30 oC
C

10 mC

13
14

21
22

H9
CFZ

D
32 C

30 oC
C

10 mC

13
14

21
22

H=
CFZ

D
32 C

30 oC
C

10 mC

13
14

21
22

Y9
QaP-L
1z4z6

Uv
gx

gt
xp

i 
Y

to
gv

cx
ue

jg
t 1

Z1

1
2
3
4

Y=
QaP-L
1z4z6

Uv
gx

gt
xp

i 
Y

to
gv

cx
ue

jg
t 2

Z1

5
6
8
9

Y10
QaP-L
1z4z6

Uv
gx

gt
xp

i 
Y

to
gv

cx
ue

jg
t 3

Z1

=
10
11
12



1 2 3 4 5 6 8 9 = 10 11 12

C

D

E

F

G

H

I

C

D

E

F

G

H

I

13 14

1 2 3 4 5 6 8 9 = 10 11 12 13 14

Y13

Uv
gx

gt
xp

i 
3

Y11
QaP-L

1z3z2.5

Uv
gx

gt
xp

i 
1

Y12
QaP-L

1z3z2.5

Uv
gx

gt
xp

i 
2

Y14

Tg
ug

ty
g

HK
-U

ej
xv

äu
ej

cn
vg

t

Uv
ge

mf
ru

gp

Z1

1=
20

H14
PDQ

D
16 C
6 mC

EW2

1

X3
1-C,14

H10
EFC
25 C

30 oC
C

Z1

13
14

H12
PDQ

D
16 C
6 mC

H15
PDQ

D
16 C
6 mC

Z1

18
19

Sxgtuejpkvv
Mcdgn VÄs
Mcdgn DPM

Uvtromtgkupt.

Dg
äg

kej
px

pi
Cd

i
pi

g

Z1

15
16

H20
EEC
16 C

10 oC
C

H13
PDQ

D
16 C
6 mC

Z1

21
22

/

3
2
1

Km3A Km1A

B
+pfgtxpi

PcuuuvcdA
pfgtxpiufcvxo Ig pfgtv

Fcvxo
Cpigdrvupt. RtrlgmvpcogA

Dguv vkiv
Gtuvgnnv

DncvvA

KpfgzA 

bXC (Gkpdcxuvcvkrp)

c
ID1
WX3

Jcxsvuvtroncxhsncp 2 2

05.05.2025

1 VV0 mC 0 mC

2

X1
1-G,14

H11
PDQ

D
16 C
6 mC

H21
PDQ

D
16 C
6 mC

3

Y15
Tg

ug
ty

g

H16
PDQ

D
16 C
6 mC

Y16

Tg
ug

ty
g

Z1

23
24

H18
PDQ

D
16 C
6 mC

Z1

25
26

Y18

Tg
ug

ty
g

H19
PDQ

D
16 C
6 mC

Z1

28
29

Y19

Tg
ug

ty
g

H1=
PDQ

D
16 C
6 mC

Z1

2=
30

Y1=

Tg
ug

ty
g

EW1 N1

RG1

N1 N3 N1N2 N2 N3 N1 N2 N3


